
Example 6.4.5 Let

A =


2 1 0 0 0
1 2 1 0 0
0 1 2 1 0
0 0 1 2 1
0 0 0 1 2

 (6.74)

In the notation of (6.68),

aj = 1, bj = 2, cj = 1, all j

Write

A = LU =


1 0 0 0 0
α2 1 0 0 0
0 α3 1 0 0
0 0 α4 1 0
0 0 0 α5 1

 ·

β1 c1 0 0 0
0 β2 c2 0 0
0 0 β3 c3 0
0 0 0 β4 c4
0 0 0 0 β5


From (6.71), β1 = 2 and

αj =
1

βj−1
, βj = 2− αj , j = 2, 3, 4, 5

This leads to

A = LU =


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


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